
Cas n°4

0 - 38 120 > 38 120 Total

IS = 15 % (1) IS = 33 1/3% (2)

1er acompte : 15/03/N 1 430 6 823 8 253

2ème acompte : 15/06/N 1 430 9 399 10 829

3ème acompte : 15/09/N 1 430 8 111 9 541

4ème acompte : 15/12/N 1 430 8 111 9 541

Total 5 720 32 444 38 164

(1) : 38 120 X 3,75 %

(2) 1er : (120 000 - 38 120) X 8 1/3%

2ème : (135 450 - 38 120 ) X 16 2/3 % - 6 823

3 et 4ème : (135 450 - 38 120) X 8 1/3 %

IS N : 38 120 X 15 % 5 718

(130 700 - 38 120) X 33 1/3 % 30 860

IS Total 36 578

- Somme des 4 acomptes versés -38 164

Excédent : 15/05/N+1 -1 586


